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@ Test Your Understanding @

| Fundamental Stage |

A. Multiple Choice Question

1. The following graph represents the 4. How many positive integers satisfy
inequality the inequality x < S—R?
— » 2
A. 6
< , > B. 7
0 2 C. 8
D. 9
A x>2.
B. x>2. 5. Which of the following numbers
C. x<2 does not satisfy the inequality
D. x<2. x> 77
A. 2.65
2. The following graph represents the g
inequality B. 3
c. T
< t > 2
-3 0
b
4
A. x>-3.
B. x>-3. 6. Suppose 0 < a < b < 1. Which of the
C. x<-3. following is false?
D. x<-3. A. ab>1
B. 2a<2b
3. If a > b >0, which of the following C s S s
may not be true? a b
A. 2a<-2b D. b-a>0
B. £ b
3 3
C. I-a)(1-b)<0
D. 1-a<1-b
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m Open-ended Question @

1. The figure shows a triangle ABC. P is an arbitrary point
on BC.
Write down as many as inequalities in relating the line
segments in the figure.

2. (a) Construct a triangle such that its circumcentre lie on
one side of the triangle.
(b) Construct the corresponding circumcircle of the
triangle in (a).

Mm=z ©

JUERELR — R+ E A W e B H g2 B = £ B 10 o 47
M IETEAF AR o b B ) o o B R s am g - 55
(Benjamin Beven) A 1804 4E4& i 12| T 1820 4F > Wy
A7 32 R B2 5% 24 L (Charles-Julien Brianchon) 132 2]
(Jean-Victor Poncelet) —f£ 5] T L EH -

JUBSEIRY E BANE
AR = AR = AR L = B S = A R TER 2 TR
LW BR A PR > 25 JUEE BB — (R > RIS
CC~QE~B D -P~ARNFJLE -

altitude (THIELR / &) incentre ([A/[»)

angle bisector (4743 ) median (H45)

centroid (JE.L») orthocentre (FHE.L»)

circumcentre 9[‘ L) perpendicular bisector (I H-F/74F)
concurrent (FLEL) triangle inequality (= AR
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| Advanced Stage |

A. Multiple Choice Question
1. In the figure, ABCD is a rhombus @4 In the figure, AD = DE = DB = AE =

and ABP is a straight line. DP is a EC, which of the following is false?
line cutting BC at Q. If BO =4 cm A
and BP =5 cm, find AB.
P
5cm i E
B
B c
Q
p c A. DE// BC
B. 2DE=BC
C. ZADE =60°
b D. None of the above
A. 12cm
B. 15cm @5 Which condition(s) is/are sufficient
C. 16cm 1
D. 20 cm to show that PQ = 5 BC?
A
2. Which of the following about a
rhombus is false? P 0
A. The opposite sides are parallel.
B. The diagonals are not equal. 5 c
C. The diagonals are perpendicular
to each other. . AP=PB and AQ = Q0C
D. Its four angles are equal. II. AP =PBand PQ // BC
III. AP: PB=AQ : QC and
PQ// BC
LN_F)S In the figure, AP = PB and PQ // BC.
. . A. Tonly
Which of the following may be
False? B. IandII only
: A C. Tand I only
I. AQ=0C D. I, T and III
I. 2PQ =BC P Q s
. AQ = PQ LN_T-‘)6 Find the value of y in the following
B c figure.
A. Tonly / . \
B. II only A. 6 / \
C. III only B. 7 Y
D. II and III only C. 8 / 12 \
D. 9 / \

Quadrilaterals 119



€. _ warm Up Practice @

Important Formulas and Terms:

Vertical ri
1. Gradient of an inclined road = - eriica r‘lse Ab
Horizontal distance .
=—=tanf@=1:n
a
2. (a) Angle of elevation: 0 (b) Angle of depression: ¢
observer
observer o
3. (a) Compass bearing (b) True bearing
Measured from the Measured from the North
North or South in clockwise direction
N N
N30°E
307 110°
w E <
Al oge
S20°W g

1. State whether each of the following statements is true
(T) or false (F).

(a) In the figure, a slide make an angle @ with the
horizontal and its height is 2 m. The length of the

slide is & sin @ m. .' (a)
hm

(b) If the angle of elevation of A from B is 20°, then the
angle of depression of B from A is also 20°. (b)

Applications of Trigonometry 141



14.

What of the following points is at a 15. If M(2, 4) is the mid-point of A(-2, 8)

distance of 10 units from A(8, 2)? and B, the coordinates of B are
A. (8,0) A. (0,6).

B. (0,8) B. (6,0).

C. (18,12) C. (-6,0).

D. (0,4) D. (-2,2).

Section B: Short Question (37 marks)

16.

17.

18.

19.

The figure shows a triangle ABC. /DBC = #DCA and A
Z/DCB = ZDAC. If ADB is a straight line, show that CD D
is an altitude on AB of the triangle.

(ve]

c
(4 marks)
In the figure, ABCD is a square and PA = PC. P
If ZPAD =20°, find 5
A D
(a) LPAC; :
(b) ZAPC.
B i C
(5 marks)
In the figure, the volume of a cone is 967 cm’ and

h:r=4:3.

(a) Find the values of 4 and r.

(b) Find the curved surface area of the cone in terms
of .

In the figure, the angle of elevation of the top of the
pole from A is 20°. If AH = 80 m and HB = 60 m, find
(a) the height of the pole;

(b) the angle of elevation of P from B.

(Give the answers correct to 3 significant figures.) l om |

(5 marks)

Assessment 2 185
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11..

12.

13.

14.

15.

16.

17.

24

Top view

[

Side view

[ 1]

Front view

/]

Side view

~

Front view—"

(a)

(b)

(c)

(a)
(c)
(e)

(a)
(b)

(a)
(b)

(c)

(d)

(e)

(a)

(b)

(c)

AE is perpendicular to the plane EFGH.

The angle between AE and EG is 90°.
FA=AH=FH

AFAH is an equilateral triangle.

The angle between FA and HA is 60°.
Z/GBF is the required angle.

ZGBF =45°

F (b) BF
/DBF (d) «DCF
/DCF

(i) HF (i) EH
(i) «BCG//ADH (ii) «CGA

LAPC
APBC is an equilateral triangle.
ZBPC = 60°
RB and RC where R is the mid-point of
BD and AC.
ZBRC =90°
No, the angles are not equal.
/PSR where S the mid-point of BC.

1

F=6,V=8,E=12

F+V-_E=6+8—12
=2

Top view Front view

N

Side view

[ ]
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18.

(a) (i) Pentagonal pyramid
(i) Octahedron
(b) @) 5
(i) 5
(¢) (i) F=6,E=10
(ii) F=8,E=12
d (i F+V-E=6+6-10=2

(i) F+V-E=8+6-12=2

ﬁ] Open-ended Question @

1.

Any reasonable answers

Both have same side view and front view

But their top views are different:

(or other reasonable answers.)



